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Please check that this question paper contains 11 printed pages and 2 pages
of maps.
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Please check that this question paper contains 26 questions.
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15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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General Instructions :
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(i)
(ii)
(i11)
(tv)

(v)

(vt)

There are 26 questions in all.
All questions are compulsory.
Marks of each question are indicated against it.

Questions number 1 to 10 are very short answer questions
carrying 1 mark each. Answer to each of these questions should
not exceed 20 words.

Questions number 11 to 20 are short answer questions carrying
3 marks each. Answer to each of these questions should not exceed
80 words. '

Questions number 21 to 25 are long answer questions carrying

5 marks each. Answer to each of these questions should not exceed
150 words.



(vit) Question number 26 is related to identification or locating and
labelling of geographical features on maps.

(viti) Outline maps of the World and India provided to you must be
attached within your answer-book.

(ix) Use of templates or stencils for drawing outline maps is
allowed.

1. ‘Sden gfg’ vse & it ST | 1
Define the term ‘Population growth’.

2. UOR ¥ wod fys fom oTu &l <¥ & AW aan’ | 1

Name the country having the highest sex ratio in the world.

3. ‘Tded W= @ uRkum dfew | 1

Define the term ‘Tourism’.

4. =4 frammerdl & FE q @R T | Ll
Give any two examples of quarternary activities.

5. 2001 F FEOMI F FIUR GRA ¥ TGS F TS fhe € 2 1
What is the density of population of India according to 2001 census ?

6. 9d & fow Usy # e @ F A SEEn F yfavd g9 F9 7 ? 1

Which state of India has the lowest percentage of population below
poverty line ? 3

7. Y WV & FE QA WERE TR F A FaR |

Name any two metropolitan cities of Andhra Pradesh.

t\:‘l_b-..
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8. vd-ufvew 7feaR & gdf afw AR FH-mr @ 2 1

Which is the eastern terminal city of East-West Corridor ?

9. WNE ¥ & 3N FAlEs & AR F H AT TC oM & 90 T9=T | 1

Name the railway line that was constructed between Roha in
Maharashtra and Mangalore in Karnataka.

10. a1g WSV & FRUT 39 fhwl o SHfE & AW TR | 1.1

Name any two diseases that are caused by air pollution.

11. T99 e & o ST | SE g Ted Wil % OYER 9 W OAEE 50
faffa sifaes dwpfa & o & IR IR AR | 1+2=3

Define ‘Human Geography’. Give four examples of elements of
material culture created by humans, using the resources provided by

nature.

12. ‘e fomd & ‘wogor U & feel O favivasl @ =y ST | 3x1=3
Explain any three features of ‘Welfare approach’ to ‘Human
Development’.

13. f5dos frad wofas damel § fog ToR gfg @t € 2 9 Soen |fed we
FHIfST | 1+2=3

How do secondary activities add to natural resources ? Explain with
three examples.

14. &7 Y9 F& T ¢ ? 9NG W YO H GRS & Ieoi@ HiC | 1+2=3
Why do people migrate ? State the four streams of migration in
India.

64/1 4



15. 9 U U 9N ¥ wEfEE & e ST R 39 99 R T g & I
faf@e - axl1=3
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‘Study the map of India given below and answer the questions that
follow :

INDIA -
METROPOLITAN CITIES, 2001
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(15.1) How many metropolitan cities are there in Maharashtra ?
(15.2) Which one of them is the largest metropolitan city ?

(15.3) Name the easternmost metropolitan city of India as shown in
the map.
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e : frfaraed 597 #acT eEgiT aien¥a & fo7e 597 G&ar 15 & @ W 8

Note : The following question is for the Blind Candidates only, in lieu of
Q. No. 15 :
YA § TR % fawm @ R de s 7 sren s 3x1=3

Explain the evolution of towns in India in any three points.

16. “q-UOEEl & Hew 39 At & fau sfie g, e eTSifasr sy w fnk g 17
FIZ T 3TFH a6 QR 39 HIF @ I¥ HNTC | 3x1=3

“Land resource is more crucial to the livelihood of the people depending
on agriculture.” Support this statement with any three suitable
arguments.

17. 9Rd & THE 5 A, 2002 F FE 9 77 GRmaei & avE #iee | 3x1=3
Describe any three key features of India’s ‘National Water Policy’, 2002.

18. 9Rd &I o4 fawga @i ofgdi &1 auia s | 3x1=3

Describe three broad belts of minerals in India.

19. 77 T U 9 & T Y@ W@ 997 @ ot fmm e smw w1 et
Wﬁ?%‘ﬂaﬁ:ﬁ%mwm%ww 3x1=3

(19.1) 3T9 TG §IF H GeOiaT 3R I 9 fafEw |
(19.2) 38 §43 9Ra & frg U9 A @ 2 2
(19.3) 39 ©97 & fou <iie 3@ & &id & 919 Fa=T |
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Study the diagram showing the location of a major steel plant of
India, given below and answer the questions that follow :

;;‘E > :'l\ﬂ Korba
Bilaspur \‘fg—/
Balaghat R“'\L"‘*—ﬂ“-‘“
pXs
L
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/I‘andula

Tank

(19.1)
(19.2)
(19.3)

qJe
Note :

aRa o

Identify and name the steel plant.
In which state of India is this plant located ?

Name the source of iron ore for this plant.

a5+ Fac giegiv aianaal & e 579 9@ 19 & ©&H W/ 8 -

The following question is for the Blind Candidates only, in lieu of
@. No. 19:

@ﬂaﬁmmﬁw%@a%maﬁm%?'waﬁm|

Explain why are the iron and steel plants located near the source of
raw materials in India.

64/1
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20.

22,

23.

24,

25.

26.
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9g ¥ <) 9l § WA 9 Anll & el O geeell § Wy i | 3x1=3

Explain any three problems faced by slum dwellers in India.

HOR ¥ TeEr 9YEReT & A o9 ol & e S | 5x1=5

Explain any five features of nomadic herding in the world.

TR ¥ ¥eF e & U SR SO F A i | 5x1=5

Explain the merits and demerits of road transport in the world.

GOR § S=RIFT SR & fhel 91" MU’ & T Hifey | 5x1=5

Explain any five bases of international trade in the world.

G & MUR W TR H 79 il & & af § Figd S | F&& &1 &
frdl -3 foiwarstt @ = Fifse | 14249=5

Classify the human settlements of the world into two types, by their

-shape. Explain any two features of each type.

“SRIEE SR ¥ 9y eed e meaqul qffe far 2 17 39 sER W e
HIfST | 5

“Air transport plays an important role in the international trade.”
Support the statement.

(26.1) ¥ER 3 feu MU yeAiftes WAt (98 13 W) ¥ fefafed e @

fe@m T 4x2=2
A T 5 gEes, 2003 § FEaE qor ESiE A 9
frafes dmewr &1 wF &

B.
C. UR-9UEefEgs et & sf<m ©vF :
D. sfefam & & Y@ 99& A

3 T F UEEE FIET R yAS v gmd Fie T @ W3S e
am faf@e |

9 P10,



qe :

(26.2) wRa & @ MU ToEIfGE @-aEE (I8 15 W) § fefafea § fafg
Iyge gl aW fREny o w5 9w fafey -

@)

g Afus eFwd g U5y

(i) =fEon ¥ fiag 99 M SREE
(iii) S F1 T TEATIT IR (2001)

Ix1=3

(26.1) In the given political outline map of the World (on page 13), the
following four features are shown :

A.

B.
C.

D.

The country having the lowest rank in
Development Index in 2003

An area of subsistence gathering.
Terminal station of Trans-Siberian Railway

A major sea-port of Australia

Human

Identify these features and write their correct names on the lines
marked near each feature.

(26.2) In the given political outline map of India (on page 15), locate

Note :
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(26.1)
(26.2)
(26.3)

and label the following with appropriate symbols :

(1)
(i

(ii

The state having the largest area
)  The oil refinery located in Haryana
i) A metropolitan city of Kerala (2001)

et F97 F9 gEdiT ahigndar & foT 97 967 26 & ©@H | & :
The following questions are for the Blind Candidates only, in lieu
of Q. No. 26 :

ue foeM gEsis, 2003 ¥ AT 900 IS A o¥ & AW ARy |

TR-TEAfE Iomnt &1 gbf sifm Ry -9 § 2
I & Go9 S 9% g T5F F 9 I9=20 |

10



(26.4)
(26.5)

(26.1)

(26.2)

(26.3)
(26.4)
(26.5)

BT & IY WE F IW FART @ del I HREE Eod 2 |

2001 F FHVH F ER I H TEFREG T H-9 8 2 5x1=5

Name the country having the lowest rank in Human
Development Index in 2003.

Which is the eastern terminal station of Trans-Siberian
Railway ?

Name the state of India having the largest area.
Name the place where an oil refinery is located in Haryana.

Which is the metropolitan city of Kerala (2001) ?
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For question no. 26.2 T 9. 26.2 & fau

Outline Map of India (Political)
A & T@T-0Hres (TSTifdeh)




